
Max. Marks =80 

SCHEME OF ASSESSMENT 

ÚH 12 (arget) 

Long Answer Type Questions 

1. 'ate-ye'YASa f fea e 

2. ate YerJ' YH3a fe fa af3 

yi ferf aái (Á fea)-4 

HJ fyI (? f fea) 

7. femagE feà f fea sIMJ fs£i 

Short Answer Type Questions 

(Á fe fea)-4 

(e fe fga)-4 

fsa fa)-4 

(3x2)=6 

(3x2=6) 

-4 



10.Ht fe at fea yH5 dd | 
11.feadE f- HJH HYe fy£ I (at f3%) 

12. 

13. 

14. 

15. 

16. 

17. 

feti 

Very Short Answer Type Questions 

Multiple Choice Questions 

-3 

-3 

2x2=4 

2x2=4 

2x3=6 

2x2=4 

- 07 

1x9=9 
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